Subject Code: 217 Question Paper Set Code :B
fawa ars 217 gvd U3 AT dIs : B

INTERMEDIATE EXAMINATION - 2019
(ANNUAL)

BUSINESS STUDIES

Note :Answer All qustions.
Total No. of Questions (& uv=l @t @) @ 83

Time : 3 Hours 15 Minutes (394 : 3 a2 15 fasie) Full Marks (guif®) : 100

Instructions for the Candidates : gfienfefal & ferr Adwr

1. Candidates are required to give their answers in their own words as far as practicable .
gemeff 7N wwE rue wral H & SR )

2. Figures in the Right Hand Margin Indicates Full Marks .
zfgft ok 2IfR w A g3 s Quife fAffe v ¥

3. 15 Minutes of Extra Time has been Allotted for the Candidates to Read the Question Paper .

39 U U3 Bl SFyds ygH @ ford 15 e w1 aifaRaw wwa @ mn 2

4, The Question Paper is Divided into Two Sections : Section — A and Section - B .
gE U UF Q) WO W § 1 WIS — A GA1 @S —B .

5. In Section — A | there are 50 Objective Types Questions which are Compulsory . Each carrying 1
Mark . Darken the Circle with Blue / Black Ball Pen against the Correct Option on OMR Answer Sheet
provided to you . Do Not use Whitener / Liquid / Blade / Nail etc on OMR Sheet, Other the Result will
be Invalid .

@ug — A, # 50 argfas e &1 wW uvw e B, e @ ford 1 o fRuiRa B e SR
Juerel HIA W OMR Ia¥ vorp A R M vl aa & W / &1 dfa g7 § W R0 f uer @
g / ava g / s / Argd anfe @1 IR yRam A wA@m s we @ st gdien uRvnw smr
g

6. In Section — B, there are 25 Short Answer Questions , Each carrying 2 Marks , Out of which Any 15
Questions are to be Answered . Apart from this , there are 8 Long Answer Questions , Each
carrying 5 Marks , Out of which Any 4 Questions to be Answered .

wug — B, § 25 g S UE Bl U 9w @ o 2 o FuifRa &, i @ Bl 15 weAl @
TR o1 AfAad B e faRew sw wue # 8 id ooy wvd Ry W B AP & o 5 3
fRuiRa &, e | B8 4 ueal &1 sav 21 2

7. Use of any Electronic Appliances is Strictly Prohibited .
ot R @& sAaEiR®E Iuwvu w1 gAn gofam afsfa &1

Page 1




Q.1.

Sol.

Q.2

Sol.

Q.3.

Sol.

Q.4.

Sol.

Q.5.

Sol.

SECTION-A (@vs - 31)
Objective Type Questions/ axfAw ue

fa®ra &1 3T & —
(A) Traar # afg CECRELIES]
(C) ygT= & 3R (D) & =

Objective of development is

(A) Increase in knowledge (B) Better Performance
(C) Promotion opportunities (D) All of these

(D)

A -

(A) gAEdE usiar (o) (B) Remr=a ugifor™
(C) Irs Tvs WY (TQl 3R IPHH P (D) Sudad B A &l
Repo is —

(A) Repurchase agreement (B) Reliance Petroleum
(C) Read the process (D) None of the above
(A)

TR $A & g 8 —

(A)S (B) 10 (C)14 (D) 15

Henry Fayol's principles of management are —
(A)S (B) 10 (C)14 (D) 15

(C)
Fed & oflgq § 9dl g & —

(A) TF IR (B) &1 9® (C) - (D) fAR=R
Recruitment in the life of organization is —

(A) Once (B) Twice (C) Occasionally (D) Continuous
(D)

P IR I MaeIHATG ... B BT YOT BN ST B |

(A) BRI F AEd (B) fher STIE SMead &A1

(C) ufieror w1yesm # wrfer (D) SWigd § | PIg 7l
Self-actualization needs on the job are fulfilled by -

(A) Hard work in the job (B) Ensuring Quality products

(C) Participate in training programme (D) None of these

(A)
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Q.6. Wy QuUtEd & fog a6 & Jarg & —
(A) ves® (B) rmaza® (C) 3FTa%I® (D) arfard

For stock exchange the service of SEBI are -

(A)Voluntary (B) Necessary (C) Unnecessary (D) Compulsory
Sol. (D)
Q7. WRINAE ga & GRgaddl O —

(A) BT (B) 2eR (C) 24 (D) 3779 &1 ®Is el

The propounder of administrative management was -

(A) Fayol (B) Taylor (C) Terry (D) None of these
Sol. (A)

Q.8. 9uic @ ared § —
(A) Frarea &1 o @e (B) wfdsr & Bri®wand &1 wanT
(C) wHEFl &) yaRed FRAE &R w8 faawor (D) T =i

Budget refers to -
(A)Planned target of performance (B) Use of handling future activities
(C) Systematic action and allocation of resources (D) All of these

sol. (D)

Q.9. FHHHRA & TIT B § —
(A) 1 2ol & el & g (B) ez 51 & SfSam1RAT & g1
(C) STaaH vl & AfwRAT & FIwT (D) T =+

Selection of employees is -

(A) Lower level executive (B) Middle level executive
(C) Top level executive (D) All of these
Sol. (D)
Q.10. TN FRYAET H .o, WIHT BT ST T8 B9 AIRY |
(A) T (B) wHTaeITed! (C) e (D) Tret=
In effective communication................. language should not be used.
(A) Clear (B) Impressive (C) Ambiguous (D) Courteous
Sol. (C)
Q.11. SufE o™ s&den & ufd vRa & R a1 &1 Sfed § —
(A) fa=reneHs (B) ABRIHS (C) T=ATHS (D) I EEATHD
The attitude of Government mechanism of India towards entrepreneurial development programme is -
(A) Destructive (B) Negative (C) Constructive (D) Non-Cooperative
Sol. (C)
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Q.12.

Sol.

Q.13.

Sol.

Q.14.

Sol.

Q.15.

Sol.

Q.16.

Sol.

Q.17.

Sol.

wh R & Furea & forg ygw @1 walaw R e @Ry 1 Ase var &1 e w1 g 59
Ui @ 2 FIAT § —
(A) FFY 3T (B) far areerr= (C) U®I 3reer I (D) fafar aresrg=

Management should find 'One best way' to perform a task. Which technique of scientific management
is defined in this sentence ?
(A)Time study (B) Motion study (C) Fatigue study (D) Method study

(D)

FHUES T ASTA B AR UG B TE P B —

(A)5 (B) 4 (C)3 (D) 399 | ®Ig &
According to Koontz and O'Donnell the main function of management are -

(A)5 (B) 4 (©)3 (D) None of these
(A)

UHR P AT T WET 8 —

(A) fasma= (B) @fda g (C) fawra wag= (D) STTF—T7®H
Costiest means or promotion is —

(A) Advertising (B) Personal selling (C) Sales Promotion (D) Public relations
(A)

e 319 FREAIET BT YA RIAT AE 8, Al YD ... FSATEA BI IUANT PHRAT AR |
(A) sEiR®E (B) aim=anRe (C) wiftg® (D) 379 & BIg F&
If you want to keep a proof of your communication you should use .............. communication.
(A)Informal (B) Formal (C) Verbal (D) None of these

(B)

SISl MR 29 & AR awT b F B —

(A) 2 (B) 4 (€6 (D)3 |
According to George R. Terry the functions of management are -

(A) 2 (B) 4 (C)6 (D) All of these
(B)

Fr=faRad 7 | BIF— AEgAIE IIRITERe] BT AT T8l § 7

(A) = (B) ®HERI (C) w¥geral (D) #izie

Which of the following does not characterize the business environment ?
(A) Uncertainty (B) Employees (C) Relativity (D) Complexity
(B)
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Q.18.

Sol.

Q.18.

Sol.

Q.20.

Sol.

Q.21.

Sol.

Q.22

Sol.

BTl Bl gBTdl o il WISH Wy B WHS Widl 8§ —

(A) BERIEHT |TSH
(C) srigeRae \wew

(B) fa@=iiswa ded
(D) aftuenRe wirsH

The form of organization known for giving rise to rumours is called —

(A) Centralised Organisation
(C) Informal Orgnaisation

(B) Decentralised Organisation
(D) Formal Orgnaisation

(C)

e aft yewrrera el &1 L B

(A) U™ (B) e (C) U qer 3= g4 (D) 579 9§ BIs F&EI
Planningisthe ............... for all managerial activities.

(A) Beginning (B) End (C) Beginning and end both (D) None of these
(R)

e 8 -

(A) FAeg—arfrg (B) Sz Al (C) Wl ufshan (D) I |y

Planning is -

(A)Goal oriented (B) Objective oriented (C) Mental process (D) All the above

(D)

o defg & -

(A) uf¥orm (B) BRI (C) v (D) f&=h & =8
Control is related to -

(A) Results (B) Functions (C) Efforts (D) None of these

(A)

g wrferdl @) faw wrawen g9 @Ry —

(A) drd@reiF gl &
(C) drei@rel= qun sreudmrel il @ o |

A fixed asset should be financed through -
(A)Long term liabilities
(C) A mix for long term and short term liabilities

(A)

(B) arcumTel= SRl 9
(D) 370 & BI5 &

(B) Short term liabilities
(D) None of these
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Q.23.

Sol.

Q.24.

Sol.

Q.25.

Sol.

Q.26.

Sol.

Q.27.

Sol.

Q.28.

Sol.

AR & IERIGIV B Afd & 8 —
(A) A% (B) 3% (C) yotar: arewha

Liberalization policy in India has been -
(A) Successful (B) Unsuccessful (C) Total failure

(A)

v wReaTed @ forY ravyd B —

(A) e (B) fersean (C) fmaan

For effective communication .............. is necessary.

(A)Clarity (B) Courtesy (C) Continuity
(D)

o for & -

(A) wEf (B) W (C) sFTfe
Controlisa/an ........... activity

(A) Costly (B) Cheap (C) Uneconomic
(A)

TH ) AT BT B

(A) wdfeh (B) @¥ Y &9 dTei! (C) wiraygo
A good planiis -
(A) Expensive (B) Time consuming  (C) Flexible

(€)

| 2004 H HIRd § why [quftrl @ s o —

(A) 20 (B) 21 (C) 23
The number of stock exchanges in 2004 was -

(A) 20 (B) 21 (C) 23

(€)

HIEET & PR & —

(A) ferfera (B) it (C) shoenRe

Types of communication are -
(A) Written (B) Verbal (C) Formal

(D)

(D) & & PIg

(D) None of these

(D) SwRIaE T+

(D) All of these

(D) 3T & Bl T

(D) None of these

(D) @It

(D) Rigid

(D) 24

(D) 24

(D) SwRIa

(D) All of these
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Q.29. FR @ IR W AFfRE forar o & —
(A) Ra=iiea FTe+ &1 (B) w1 w1849 %1
(C) FTafceT®d HITSH &l (D) ®RIgHd FISH Bl

On the basis of functions grouping of activities is a part of -

(A) Decentralised organization (B) Divisional organization
(C) Functional organization (D) Centralised organization
Sol. (C)

Q.30. a9y wnfig fea S g —
(A) wEl & ey (B) fawmii & we
(C) g1 Ud FHHaRAT & Heg (D) Swdad Wl & wey

Co-ordination is established

(A) Between groups (B) Between departments
(C) Between management and workers (D) All of the above
Sol. (D)

Q.31. 91§ & ®A fFEoE @ A a8 g ?
(A) FHSRA (B) a1 B qa@id) (C) Fwam &1 sk (D) STt orTe

Which of the following is not a limitation of planning ?

(A) Rigidity (B) Wastage of time (C) Basis of control (D) Huge Cost
Sol. (C)
Q.32. T BT HFEAR P B

(A) T (B) wwef (C) ga= (D) 5719 9§ BIg &I

Employees ............... control

(A) Oppose (B) Support (C) Like (D) None of these
Sol. (A)

Q.33. FHaIRIl & fawm § afafea & —
(A) waI=fa (B) AT (C) ufetor (D) 3 |

Development of employees involves
(A) Promotion (B) Transfer (C) Training (D) All of these

sol. (C)
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Q.34.

Sol.

Q.35.

Sol.

Q.36.

Sol.

Q.37.

Sol.

Q.38.

Sol.

=01 raegsd § —
(A) Tg-IUHH B g (B) 5z SN & SushH B forg
(C) & 3IMHR arel JUHH & oIy (D) SuwRigd w1 @& forg

Controlling is necessary -
(A) For small enterprise (B) For medium sized enterprise
(C) For large sized enterprise (D) For all of the above

(D)

gHdl FeEarET | a8 —
(A) wre1 (B) g (C) &rfdawra fa=@amd (D) SURIFd &+l

Barrier in effective communication is -
(A) Language (B) Distance
(C) Individual differences (D) All of the above

(D)

TP G B ATe], ARl @1 T erEwen 8 w@ey —
(A) ®aa =re] a1cdl | (B) aar dreddrela gridal |
(C) efpreN= qAT ScuBIe QI+l | 79T (D) SWRIF @it

Current assets of business firm should be financed through
(A)Current liabilities only (B) Long term liabilities only
(C) Partly from both long and short term liabilities (D) All of these

(©)

J P T PRI 8 —

(A) feeh (B) 7¥ (C) eI (D) a7

Head Office of SEBI is in -

(A) Delhi (B) Mumbai (C) Kolkata (D) Chennai
(B)

g & g & —

(A) s (B) dreiia (C) wra+ifis (D) SwRIE T+
Principles of Management are -

(A) Dynamic (B) Flexible (C) Universal (D) All of these

(D)
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Q.39. WIRA # |EW Ul e fqufdr @ oA g8 o —
(A) 1857 (B) 1877 (C) 1887 (D) 1987

The first stock exchange in India was established in -
(A) 1857 (B) 1877 (C) 1887 (D) 1987

Sol. (A)

Q.40. |HAS HRIEEA H GG B YA Bl & —
(A) TR P AR (B) HIa @ 3M% (C) ¥Rdd WX W) (D) SuRIad

In horizontal communication, flow of suggestion is -
(A)lUpward (B) Downward (C) Same level (D) All of the above

sol. (C)

Q.41. fIza A |a9 usel by [Quidl &) AT g8 o —

(A) Reen (B) eT=<= (C) srRam (D) ST
The foremost stock exchange in the World was established in -
(A) Delhi (B) London (C) America (D) Japan
Sol. (C)
Q.42. IAET 3@ R IJERT AED Ghar o g —
(A) erafkd w6 &l (B) w1 w8 &1
(C) BTITHS HITSH B (D) TR ST Bl

Grouping of activities on the basis of product lines is a part of -

(A) Delegated Organisation (B) Divisional Organisation
(C) Functional Orgnisation (D) Autonomous Organisation
Sol. (B)

Q.43. TR graraRel &1 AFferRad § 9§ B9 |91 SaTev § 7

(A) srierawen ¥ a1 & amgfl (B) SuHTaar |veTor SAfSfE T
(C) ge1 & wiqgm™ (D) uRaR @& GXEH1
Which one of the following is an example of social environment
(A)Money supply in the economy (B) Consumer Protection Act
(C) The constitution of the country (D) Composition of family
Sol. (D)
Q.44. T B —
(A) tFRo® (B) armaea® (C) srTaeT® (D) w¥g @ qqid)
Co-ordination is
(A)Voluntary (B) Necessary (C) Unnecessary (D) Wastage of time
Sol. (B)
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Q.45.

Sol.

Q.46.

Sol.

Q.47.

Sol.

Q.48.

Sol.

Q.49.

Sol.

WRE H IR-\HR] BRI H18q § —

(A) digw (B) B Biot

(C)gMi (D) Swdad # & PIg AL
Working non-government organization of India is -

(A)Voice (B) Common cause

(C) Both (D) None of these

(C)

af¥reror &) faftit & —

(A) BRI ggen gfderor (B) BT R uferor

(C) ufReren wfreror (D) A |

Methods of training are -
(A)Job rotation training (B) Onthe job training
(C) Apprenticeship training (D) All of these

(B)

A= w©nfua fear s g —
(A) Swaq ®R & Y= gRI (B) &9 W & U&= §RI
(C) =1 R & Y& gRT (D) 571 & wt

Co-ordination is established by -

(A)Top level management (B) Middle level management
(C) Lower level management (D) All of above

(D)

ITIF gl & FHuer @ awer 99 8 —

(A) TH (B) Presr (C) fo—wra (D) &g FE

The mechanism for settlement of consumer dispute is -

(A)One-tier (B) Three-tier (C) Two-tier (D) None of these
(B)

ga & fagr T8 § —

(A) ard¥f® (B) T et (C) e (D) =aEIR®

Principles of management are not -
(A)Universal (B) Flexible (C) Absolute (D) Behavioral

(B)
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Q.50.

Sol.

Q1.

Sol.

Q.2

Sol.

Q.3.

Sol.

Q.4.

Sol.

ke H ey qufr @ widsy € —
(A) Soorae (B) 28R H (C) wHT =g (D) ®1E wfasy =&

The future of stock exchanges in India is -
(A) Bright (B) Indark (C) Ordinary (D) No future

(A)

SECTION -B

State the definition of management given by Advin. M. Robinson.

Management is the process of planning, organizing, direction and controlling activities of and using
resources of an organization for accomplishing the organizational goals efficiently and effectively.

Write any two characteristic of management.

CHARACTERISTICS OF MANAGEMENT :

(i) Management is a Goal Oriented Process :
An Organization has a set of basic goals which are the basic reasons for its efficiency .
Management unites the efforts of different individuals in the organization towards achieving
these goals . Eg. A Firm decides to sell 10,000 TV Sets in a particular year . The Manager will
plan a course of action and organize the activities to achieve this goal .

(i) Management is a Group Activity :
An Organization is a group of different individuals with different needs . But as members of the
organization, they work towards achieving the common organizational goal . This requires
Team Work and Co-ordination. Management as a Team can contribute more Effectively and
Efficiently rather than Individuals .

What do you mean by Principles of Management ?

“Principle is a fundamental statement or truth providing a guide to the thought or action.”

G.R. Terry
The principles of management act as guidelines for the practice of management. They help in
predicting what would happen if the principles were applied. For example, application of the principle
of ‘discipline’ leads to smooth and systematic functioning of the business and helps in improving
efficiency. Without proper understanding of management principles, a person cannot perform
managerial functions efficiency.

Name any two factors of economic environment of the business.

Example of Impact of Economic Environment on Business:-

(1) In case of construction companies and automobile manufactures, low long-term interest rates
are beneficial because they result in increased spending by consumers for buying homes and
cars.

(2) Increase in the incomes of the consumers leads to increase in their purchasing power. Hence,

demand for goods and services rises.
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Q.5

Sol.

Q.6.

Sol.

Q.7.
Sol.

Q.8.
Sol.

(3) High inflation rates generally result in constraints on business enterprise because they
increase the costs of raw materials or machinery and payment of wages & salaries to
employees.

What do you understand by economic environment ?

Economic Environment :

Economic Environment consists of factors like inflation rates, interest rates, consumer's incomes,
economic policies, market conditions etc. which affect the performance of a business firm.

Explain in brief any three characteristics of an ideal plan.

The essential nature of planning can be highlighted by the following major aspects of planning:

(i) Planning — an Intellectual process: Planning is the process of choosing the proper course of
action from among alternative and calls for decision-making, which is an intellectual process.

(i) Planning — a Primary Functions : Planning is the most basic function of management. As a
matter of fact, all other functions of management largely depend upon planning.

(i) Planning - a Continuous Function of Management : Management is a dynamic process
and planning as its function cannot be an exception to it.

(iv) Planning — a Pervasive Function: Planning is pervasive function. It pervades at all levels

and in all departments of an organization. Sometimes, planning is erroneously considered to
be the prerogative and responsibility of top management alone.

Write two points of importance of planning.

(a) Planning makes Personnel Conscious of Enterprise objectives : The first stage in any
type of planning is the deliberate statement of objectives of each department in the
organization and the enterprise as a whole. It helps personnel to see the enterprise in its
entirely and see how their actions may contribute to its ultimate goals. Since objectives
represent end point of planning, management should be aware of the future and revise its
plans in the light of possible changes so that goals are accomplished more effectively.

(b) Planning Leads to Economy in Operations : Planning is always done with an eye on
economy and efficiency in operations. Since it involves choosing, planning facilities the choice
of the best method and helps to identify alternatives expected to produce desired results with
minimum unsought consequences.

Is there any differences between formal and informal organization ?

1. Definition It refers to ”the ys'tru't:tur‘e' of It refers fo 'th'e' personal 'rélétidhsmps
well - defined authority and which  develop automatically when
responsibility relationships. people work together.

2. Purpose It is created to achieve It has no predetermined objectives.

predetermined objectives.

3. Formation | Formal relations are well Informal relations are unplanned and

/Origin planned and are created they originate automatically.
deliberately.
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Q.9.
Sol.

Q.10.

Sol.

Q.11.
Sol.

Q.12.
Sol.

Is there any differences between decentralization and delegation of authority ?

1. Nature It refers to the entrustment of It refers to the systematic delegation
responsibility and authority from | of authority to a lower level in the
a superior to his subordinate. organisation. Thus, it is totalistic
Thus, it is individualistic.
2. Scope or It has a narrow scope as it is It takes place when delegation is
Parties restricted from one person to made to all the employees at a
Involved another. particular level.
3. Purpose Its purpose is to lessen the Its purpose is to give greater
burden of the superior. autonomy (or freedom of action) to

the lower levels.

State any two benefits of training.

NEED / IMPORTANCE / BENEFITS OF TRAINING FOR ORGANISATIONS

1. Higher profits: It enhances employee productivity both in terms of quantity and quality.
leading to higher profits.
2. Develops future managers: Training helps to develop future managers who can manage the

enterprise in emergency.

What are the internal sources of recruitment 7
UNDER THE INTERNAL RECRUITMENT FOLLOWING METHODS OF RECRUITMENTS ARE
USED :

(a) Transfer : Transfer means shifting of employees from one job position to other at the same level
of authority. Generally with the transfers there is no change in compensation level and authority
level. There is no change even in his rank, responsibilities and prestige. Only the place of working
is changed.

For example, transfer of clerk from accounts department to purchase department.

(b) Promotion : Promotion refers to shifting of employees from one job position to other with higher
level of authority. In promotion the authority level, the rank, responsibilities of employees and
prestige improve or increase. Generally with the promotions there is increase in compensation or
salary also.

For example, promotion of clerk to accountant post.

Give any two elements of directing.
1. Supervision : The word ‘supervision’ consists of two parts :
(iy Super (Means — Over and above)
(i) Vision (Means — Art of seeing objects)
Supervision means overseeing the subordinate at work by their superiors and giving
instruction to ensure optimum utilisation of resources and accomplish the desired objectives.

2. Motivation : Motivation means a process of stimulating people to action to accomplish
desired goals.
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Q.13.

Sol.

Q.14.

Sol.

Q.15.

Sol.

Q.16.

Sol.

Q.17.

Sol.

Q.18.

Sol.

Q.19.

Sol.

What is meant by directing ?

MEANING OF DIRECTING

In the ordinary sense, directing means giving instructions and guiding people in doing work. But in the
context of management of an organisation, directing refers to the process of instructing, guiding,
motivating, leading, counseling and coaching people in the organisation to achieve its objectives. It is
called Management in action.

“Directing is telling people what to do and seeing that they do it to the best of their ability.”

What is the formula of calculating Break-even Point ?

Fixed Cost
Contributionper unit

BEP =

State any two limitations of control.

(a)External factors cannot be controlled such as government policies, etc.
(b) Lot of expenditure, time and effort is involved in to enforce control which proves to be a costly
affair.

What are the main two functions of Financial Management ?

(a) Estimation of capital requirements— A finance manager has to make estimation with
regards to capital requirement of the company. This will depend upon expected costs and
profits and future programmes and policies of a concern. Estimation have to be made in an
adequate manner which increases earning capacity of enterprise.

(b) Determination of capital composition — Once the estimation have been made, the capital
structure have to be decided. This involves short term and long term debt equity analysis. This
will depend upon the proportion of equity capital a company is possessing and additional
funds which have to be raised from outside parties.

Define Financial Management.
Financial management may be defined as planning, orgnanising, directing and controlling the financial
activities of the organisation. It is concerned with management of flow of funds and involves decisions

relating to procurement of funds, investment of funds in long-term and short-term and distribution of
earnings to the owners.

State the meaning of marketing.

It is the process of exchange of goods and service for money or for something of value of them.

What is meant by labeling ?

Labeling: A label identifies the product or brand. Labels are attached onto the product package to

help identification and provide some information to the customers. A label is carrier of information,
which is to be provided to the customers.

Page 14




Q.20.

Sol.

Q.21.

Sol.

Q.22

Sol.

Q.23.

Sol.

Q.24.

Sol.

What is meant by consumer ?

Consumer of goods — A consumer of goods means any person who buys any goods for a
consideration (which has been paid or promised or partly paid and partly promised, or under any
system of deferred payment).

A consumer of service means a person who hires or avails of any service for a consideration (which
has been paid or promised or partly paid and partly promised, or under any system of deferred
payment).

What is Lok Adalat ?

Lok Adalat is one of the administrative dispute resolution mechanism in India; it in a forum where
cases pending or at prelitigation stage in a court are settled.

Explain the role of press in consumer protection.

The Press in India has always been responsive in performing duties so that those who are involved in
the matters of policy making can give justice to their duties.

The Press here play the role of spreading consumer education and informed them about the right of
consumer, as well as making conscious to consumer, how the consumer have right to seek redressal
through Consumer Protection Act, 1986.

"Control means back looking". Explain.

Controlling is Backward looking

Q Controlling : As like a postmortem of past activities the manager looks back to previous
year’s performance to find out its deviation from standard.

@) Planning : As planning is guided by past experience and feed-back report of controlling
function.

What is meant by control by exception ?

Control by Exception/Management by Exception :- This principle of management control is based
on the belief that—""An attempt to control everything may end up by controlling nothing,”

Minor deviations from standards are insignificant for success. They should be ignored. Therefore, only
significant deviations, which go beyond the permissible limit, should be reported to the management
so that the management may take corrective action to deal with the situation.

Example 1: A manager establishes a quality control standard which says that 5 defects per 100 units
produced are permissible. Under the “control by exception” principle, only significant deviations from
this standard, i.e., 6 or more defects per 100 units should be reported to the manager.

Example 2: The management lays down a standard that the cost of production per unit should not

exceed by 10% from the earlier period. If the actual cost exceeds by 10% (say by 15%), it should be
reported to the management.
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Explain the meaning of development.

Development refers to overall growth of the employee :t focuses on personal growth and
successful employee’s development. Development is much wider in concept as compared to training
as training is only one part of development.

However, both training and development are related process. Training helps the employee in learning
job skills whereas development shapes attitude of the employee. The term ‘training’ is used in relation
to operative employee whereas ‘development’ in used in relation to executives and managers.

"Direction is the heart of the Management Process". Do you agree ? Give any two reasons in support
of your answer.

“Directing is heart of Management” because any management function for proper execution
requires direction.

1. Initiation of Action : Directing initiates action in the organisation. Through directing, a
superior conveys to his subordinates what to do and how to do it. Which results in unity of
direction without such an action, all organisational resources — both human and non human —
remain unused.

2. Means of Motivation : Every individual has lot of potential to get things done but in the
absence of proper motivation, this potential remains unused. So a manager with good
leadership and motivational skill provides needed confidence, support, motivation and
encouragement. Directing provides this motivation to the individuals to get maximum out of
them.

Explain the meaning and importance of planning.

Planning is Deciding in Advance , “What to do” and “How to do it” . It is one of the Basic
Managerial Function . Before doing something, the Manager must Formulate an ldea of , How to Work
on a Particular Task . Thus Planning is clearly connected with “Creativity” and “Innovation”.

Planning Seeks to Bridge the Gap between , “Where we Are” and “Where we Want to Go” .
It is concerned with both Ends and Means , i.e. “What is to Done” and “How it is to be Done”.

Managers think in Advance on “Whatto Do” and “How to Do it” . This is the Essence of Planning.

IMPORTANCE OF PLANNING :

1. Planning provides direction : By starting in Advance, How work is to be done , Planning
provides direction for action . Planning ensures that the goals or objectives are clearly stated
so that they act as a guide for deciding, what action should be taken and In which direction. It
goals are well defined, employees are aware of what the organization has to do and what they
must do to achieve those goals . Departments and individuals in the organization are able to
work in co-ordination. If there was no planning, employees would be working in different
directions and the organization would not be able to achieve its desired Goals .

2. Planning reduces the risk of uncertainties : Planning is an activity which enables a
manager to look ahead and anticipate changes. By deciding in advance the tasks to be
performed, planning shows the way to deal with changes and uncertain events. Changes or
events cannot be eliminated, but they can be anticipated and managerial responses to these
can be developed.
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Planning reduces overlapping and wasteful activities :Planning serves as the basis of
co-coordinating the activities and efforts of different divisions, departments and individuals. It
helps in avoiding confusion and misunderstanding. Since planning ensures clarity in thought
and action, work is carried on smoothly without interruption. Useless and redundant activities
are minimised or eliminated. It is easier to detect inefficiencies and take corrective measures
to deal with them .

Planning promotes innovative ideas : Planning is thinking in advance and therefore, there
is scope of finding better ideas and better methods and procedures to reach the objectives /
goals of the enterprise . This forces the managers to think differently about the future of the
organization as compared to the present .

Planning facilitates decision making : Planning helps the manager to look into the future
and make a choice amongst various alternative courses of action. The Manager has to
enhance each alternative and select the most visible proposition.

Planning establishes standards for controlling : Planning provides the goals or standards
against which the actual performance can be measured and evaluated .

Describe the importance of business environment in management.

IMPORTANCE OF BUSINESS ENVIRONMENT

The complete awareness and understanding of business environment is known as
‘Environment Scanning’.

Signification of understanding environment in shaping the future of business can be
appreciated if we consider the following facts.

1.

It enables the firm to identify opportunities and getting the first mover advantage :
'‘Opportunities’ refer to the positive external environment trends and changes that will help a
firm to improve its performance. By keeping in touch with the changes in the external
environment, an enterprise can identify opportunities and find strategies to capitalise on the
opportunities at the earliest. For example, Maruti Udyog became the leader in the small car
market because it was the first to recognise the need for small cars in an environment of rising
petroleum prices and a large middle-class population in India

It helps the firm to identify threats and early warning signals :

‘Threats’ refer to the external environment trends and changes that will hamper a firm's
performance. Environmental scanning helps to identify possible threats in future. For example
if an Indian firm finds that an MNC is entering the Indian market with new substitutes, this
should work as a warning signal for the Indian firm. Based on this information, the Indian firm
can improve the quality of its products, reduce cost of production, engage in aggressive
advertisements, etc.

It helps in assisting in planning and policy formulation :

Environment analysis helps in identifying threats and opportunities in the market. These can
serve as the basis for deciding the future course of action (planning) or training guidelines for
decision-making (policy).

Page 17




Q.29.

Sol.

It helps in tapping useful resources :

A business firm is an open system which gets resources such as capital, labour, machines
and equipment, materials, etc. from the environment, converts them into goods and services
desired by the customers and then supplies its output to the environment.

It helps in coping with rapid changes :

Managers must understand and examine the business environment and develop suitable
courses of action to cope with turbulent market conditions, rapid changes in technology,
intense global competition, etc.

It helps in improving performance :

The enterprises which continuously monitor their environment and adopt suitable business
practices not only improve their present performance, but also continue to succeed in the
market for a longer period. For example, if a firm is sensitive to the external environment, it will
come out with new products and services to meet the future requirements of the customers.

Image building :

If a firm is sensitive to the external environment, it will come out with new products and
services to meet the requirements of the customers. This would build the image or reputation
of the firm in the eyes of the customers and the general public. Because of sensitivity to Indian
consumers’ requirements, LG was able to enhance its brand image in the Indian market in a
short span of time.

Give in brief any six reasons as to why consumer protection is needed in India.

In our country, when voluntary efforts failed, the Government of India incorporated some of the most
important rights in the Consumer Protection Act, 1986. The statement of objects and reasons of the
Act Section 6 incorporate the various rights of consumers. They are as under :

1.

Right to be protected or right to safety — Every consumer has the right to be protected
against the marketing of goods and services which are hazardous to life and property.

Right to be informed - Every consumer has the right to be informed about the quantity.
potency, purity, standard and price of goods or services, as the case maybe, so as protect the
consumer against run fair trade practices.

Right to choose - Every consumer has the right to be assured, wherever possible, access to
a variety of goods and service at competitive prices. By this right, he will be in a position to buy
goods or services of his choice.

Right to be heard - Every consumer has the right to be heard and to be assured that
consumer ’'s interests will receive due consideration at appropriate forums.

Right to be redressed - Every consumer has the right to seek redressal against unfair trade
practices or restrictive trade practices or unscrupulous exploitation of consumers.

Right, to consumes education - Every consumer has the right to consumer education A
consumer has a right to his rights as consumer He is entitled to obtain knowledge of all the
remedies available to him against the exploitation by the manufacturers and traders of goods
and services.

Besides these rights covered under the Act, following are the other rights of a consumer
recognised by some or the nations of the world.

Right to value - Every consumer has the right to get full value in return of the price paid.
Right to healthy environment or quality of life - Every consumer has the right to expect
from the business a healthy environment so that he may enjoy quality life. He can expect an
environment free from all kinds of pollutions.
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What is meant by marketing ? Explain any four functions performed by marketing manager.

The marketing concept implies that the firm can achieves its goals by identifying the needs of

customers in a chosen market and satisfying them better than the competitors. This essentially

involves that the firm must develop products and services that customers require, and not what it can

make.

Marketing functions include a series of specified activities performed in the marketing of goods and

service.

(a) Gathering and analysing market information. Marketing research is the systematic
investigation of the facts relevant to various aspects in marketing. Marketing research helps
managers to arrive at appropriate decisions. Market information should be gathered and

analysed.

(b) Marketing planning. To achieve the marketing objectives of the organization appropriate
marketing plans covering various important aspects should be developed.

(c) Product designing and development. Product designing and development is concerned with

anticipating customers' needs. developing new products and improving the existing products
so as to meet expectations of customers. A good design can improve the performance of a
product and also give it a competitive advantage in the market.

(d) Standardisation and grading. Standardisation refers to the process of setting certain
standards for a commodity on the basis of its desired qualities. Grading refers to the division of
products into classes made up of units possessing similar features.

(e) Packaging and labeling. Packaging is the act of designing and producing the package for a
product. A package is a wrapper or a container in which a product is enclosed. Packaging
reduces the risk of spoilage, breakage, etc. in the process of storage and transportation of
goods. Whereas labeling means putting identification marks on the package.

(f) Branding. It is the process of stamping a product with some identifying name or mark or a
combination of both.

What is money market ? State any three of its characteristics.

Money market is the market for short-term funds meant for use for a period of upto 1 year. Money
market provides means fir raising fund, for meeting short-term requirements of cash on one hand and
the deployment of surplus funds for shun periods (of one year or less), on the other hand.

The important money market instruments are:

(a) Call Money. It is a method by which commercial banks borrow from each other and able o
maintain the minimum cash balance called as Cash Reserve Ratio as required by RBI. It is a
short-term finance repayable on demand with a maturity period of one to fifteen days. The
interest rate paid on call money loans is known as call rate, It is a highly fluctuating rate that
changes from day-to-day and sometimes even from hour-to-hour.

(b) Treasury Bill(T-Bills). Treasury bills are issued by Reserve Bank of India on behalf of the
Government of India to meet its short-term requirements of funds. The issue period ranges
from 14 to 364 days. T-Bills are negotiable instruments, i.e., they are freely transferable.
T-Bills are available for a minimum amount of 25,000 and in multiples thereof. These are also
called Zero Coupon Bonds.
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(c) Commercial Bill\Trade Bills. A commercial bill is a bill of exchange used of finance the
working capital requirements of business firms. It is a short- term negotiable and self-
liquidating instrument. When goods are sold on credit. the seller (drawer) draws a bill of
exchange and the buyer (drawee) accept it. On being accepted, the bill becomes a marketable
instrument and is called a trade bill. when a trade bill is accepted by a commercial bank. it is
known as commercial bill.

(d) Commercial Paper. A commercial paper is an unsecured promissory note, issued by a
corporate with a fixed maturity period which varies from 15 days to 2 months. Since a
commercial paper is unsecured, it is issued only by a highly creditworthy, reputed leading
firms. Proceeds from, the commercial paper is to be raised only for working capital purposes.

(e) Certificate of Deposit. These are unsecured, negotiable, short-term instruments in bearer
form, issued by commercial banks and development financial institutions. They can be issued
to individuals, corporations and companies during periods of tight liquidity when the deposit
growth of banks is slow but the demand for credit is high. The time period of certificate of
deposits ranges from 91 days to one year.

What is meant by control ? Discuss its nature.

MEANING OF CONTROLLING

Controlling refers to comparison of actual performance with the planned performance and taking
corrective actions, in case of deviations between actual and planned performance.

Controlling cannot prevent deviations. But it can minimize them by taking actions and decisions that
reduce their recurrence.

CHARACTERISTICS OF CONTROLLING

Controlling is a goal-oriented function :

Controlling means ensuring that activities in an organisation are performed as per the plans. The
essence of control lies in managerial action taken to correct the performance. Mere measurement of
performance and finding deviations does not achieve control. An effective control system facilitates
timely corrective action so that deviations do not occur again and standards are accomplished. Thus,
controlling is a goal-oriented function.

Pervasive Function :

Control is pervasive function in the sense that it is required at all levels of management in every type of
organisation. It is applicable to production, finance, marketing and organisational activities. Every
manager performs the controlling function irrespective of his status and the nature of his job.

Continuous Process :

Controlling is a continuous process in the sense that it involves review of performance and revision of
standard operations on a continuous basis. As long as an organisation exists, control continues to
exist. Controlling is not an activity to be pursued in the end only, it has to be on a continuous basis.
Activities should be supervised on continuous basis.

Backward and Forward Looking Process :

Control is backward looking process in the sense that it compares actual performance which has been
or is being carried out with the planned performance. Control is a forward looking process in the sense
that it improves future planning by suggesting revision of existing plans and targets and adoption of
new plans on the basis of information derived from past experience. It looks at future through the eyes
of past. Therefore, control is both a backward and forward looking process.
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What are the main functions of financial market ?

The functions of a financial market are :

(a)

(b)

(c)

(d)

Mobilisation of savings and channeling them into the most productive uses : It is a
forum which facilities the flow of capital from investors to borrowers and, thus, funds are
utilised for productive purpose.

Facilitating price Discovery : Price for the financial assets is determined by the equality of
demand (business firms) and supply (households) forces in the financial market.

Providing liquidity to functional assets : Convertibility of financial assets into cash is done
easily through mechanism of the financial markets.

Reducing the cost of transactions : Financial markets save a lot of time and efforts of the
buyers and sellers by providing a forum through which they can meet each other to fulfill their
needs.
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